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Al- khowariemi — A (-jebr. .,
( 66 )

roots give one square; and, consequently, the whole of
it multiplied by three roots of it gives one square and a
half, This entire square, when multiplied by one
root, gives half a square; the root of the square must
therefore be a half, the square one-fourth, two-thirds
of the square one-sixth, and three roots of the square
one and a half. If you multiply one-sixth by one and
a half, the product is one-fourth, which is the square.

Instance: * A square; you subtract four roots of the
same, then take one-third of the remainder; this is
equal to the four roots.”” The square is two hundred
and fifty-six.* Computation: You know that one-third
of the remainder is equal to four roots; consequently,
the whole remainder must be twelve roots; add to this
the four roots; the sum is sixteen, which is the root of
the square.

Instance: * A square; you remove one root from it;
and if you add to this root a root of the remainder, the
sum is two dirhems.”+ Then, this is the root of a

% = ez _

3
2 — 4z = 122
2= 162

z =16 .. 2* = 256
t Val—z2 4+z2=2

v’i-ti=a -2
P =g =4+ 2~ 4x
24 3r=4+ s
x=4

x:lﬂ-
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nare, which, when added to the root of the same
nare, less one root, is equal to two dirhems. Sunb-
 tract from this one root of the square, and subtract also
' om the two dirhems one root of the square. Then
} 7o dirhems less one root multiplied by itself is four
'dirhems and one square less four roots, and this is equal
a square less oneroot. Reduce it, and you find &
lquare and four dirhems, equal to a square and three
{froots. Remove square by square; there remain three
i..m& equal to four dirhems; consequently, one root is
' equal to one dirhem and one-third. ‘This is the root of
| the square, and the square is one dirhem and seven-
¢ ninths of a dirhem.

. Instance: “ Subtract three roots from a square, then
multiply the remainder by itself, and the square is
. restored.”® You know by this statement that the re-
| mainder must be a root likewise; and that the square
. consists of four such roots; consequently, it must be
sixteen.
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